FK region_id
gender
grade

created

language_id

respondent

PK respondent_id SERIAL

SERIAL
INT
INT

response_year INT
TIMESTAMP
language VARCHAR (255)

A
—

survey_response

FK variable_id SERIAL

FK response INT

FK respondent_id SERIAL
created TIMESTAMP

PK (variable_id, respondent_id)

INT

PK region_id
region
created

1
g

wn—=Q

SERIAL
VARCHAR (255)
TIMESTAMP

region_language

FK region_id SERIAL
FKlanguage_id SERIAL
region VARCHAR (255)

PK variable_id SERIAL
FK theme_id

variable

SERIAL

name VARCHAR (255)

A A

description VARCHAR (255)
created TIMESTAMP

A

classified_value

FK variable_id SERIAL
classification_id INT
value VARCHAR (255)
created TIMESTAMP

LPK (variable_id, classification_id)

variable_language

FK variable_id  SERIAL
FK language_id SERIAL
name VARCHAR (255)
description VARCHAR (255)
PK (variable_id, language_id)

PK (region_id, language_.id)

event_privilege

FK event_id
FK user_id SERIAL

created TIMESTAMP
PK (event_id, user_id)

SERIAL

PK assignment_id SERIAL

A

A

A

FK event_id SERIAL
assignment_name VARCHAR (255)
assignment VARCHAR (5000)
comment VARCHAR (255)
created TIMESTAMP

PK answer_id SERIAL

FK event_user_id SERIAL

FK assignment_id SERIAL

FK dependent_variable_id SERIAL
answer_type INT
answer

language
PK language_id SERIAL <
language VARCHAR (255) |«
created TIMESTAMP
J

L

K theme_id
theme
created

SERIAL
VARCHAR (255)
TIMESTAMP

A

A

classified_value_language

FK variable_id SERIAL

variable_valid

PK, FK variable_id SERIAL

FK user_id UuID
status INT
modified TIMESTAMP
status:
1 =enabled

VARCHAR (5000) [€

FK variable_id
FK event_id
PK (variable_id, event_id)

answer_type:

1 = answer

2 = model answer
3 = correct answer

event_variable

SERIAL
SERIAL

2 = disabled

answer_independent_variable

FK answer_id SERIAL
FK variable_id SERIAL
PK (answer_id, variable_id)

answer_classification

FK answer_id SERIAL

PK event_id SERIAL
FK creator_id uUuiD
group_key  VARCHAR (255)
status: status INT
1 = hidden event_name VARCHAR (255)
2 = viewable description  VARCHAR (255)
3 = answerable created TIMESTAMP )
4 = removed
PK user_id SERIAL
FK event_id SERIAL
FK identified_user_id UUID
event_user_id UuiD
nickname VARCHAR (255)
created TIMESTAMP
identified_user
PK user_id uuiD
first_name VARCHAR (255)
last_name VARCHAR (255)
created TIMESTAMP J
PK, FKuser_id  UUID
role INT
role: created TIMESTAMP

1 = normal user
2 = superuser

PK

—

event_presentation

FK presentation_id
FK event_id
(presentation_id, event_id)

SERIAL
SERIAL

presentation

PK presentation_id SERIAL
presentation
created

VARCHAR (25
TIMESTAMP

>

FK classification_id INT
FK dependent_variable_id SERIAL
PK (answer_id, classification_id)

answer_presentation

FK answer_id SERIAL
FK presentation_id SERIAL
PK (answer_id, presentation_id)

5j‘

FK classification_id INT
FK'language_id SERIAL
value VARCHAR (255)
PK (variable_id, classification_id,
language_id)

theme_language

FK theme_id SERIAL
FK language_id SERIAL

theme VARCHAR (255)
PK (theme_id, language_id)




